Exam 2 Review Questions
Student Name: ________________________________________

1. Devices connected to a network are called:

a) Modules

b) Connectors

c) Nodes

d) Busses

2. Standard telephone lines use this type of transmission media:  

a) Twisted pair

b) Coaxial

c) Fiber optics

d) Satellite

3. Each device in a network must be equipped with this card in order to connect and share information:

a) NIC

b) Hub

c) BUS

d) AGP

4. Which of the following is an advantage of a computer network compared to stand-alone         computers? (Circle all correct answers)

a) Sharing computers’ processing power
b) Ability for user to communicate electronically
c) Sharing files saved on flash drives
d) All of the above

5. In a network with a BUS topology if this component fails, the entire network is down. Name the component: ___________________________

6. In a network with a STAR topology if this component fails, the entire network is down. Name the component: ___________________________

7. In a network with a STAR topology, all nodes are connected to this device…

a) Cable

b) Hub

c) MAU

8. In a Peer-to-Peer network, nodes are either clients or server, not both.
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9. A standard telephone system uses twisted pair cable to transmit voice.  
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